SVOLGHENTO  PROVA  SCRATH
d ANALISI 4 ol A2 /003 a

R \7/\ 0 [r‘é%o)
Vz 7/0



ﬁgﬁmwmm 3

%@5’9 LpUee ok \«Law
bl §0)=§10)= 4 = i §6)
KO

X>0

3(66 (R A A

— € e
S’(A—: \j)&Jr/ ' )

=2 Ss OLUCLUQL{,OL «U/L\
()0



,g:ouUUVWQ A C-’DO/C)) e Gace (O)h)o)

w <O ML ASS L §(0)=4 A

S ¢ ¢ 5
35 /—/31 +0O (xé)%/Jr?- +®(XGW
()= °© SR e
L 2 —
XX
—K{,
_ 2
4
=2 10 nwwedtw fo ool i ’(’Lt/wt/‘)/u LD



43 &% (w Jre ﬁ% &%(JH——)(
A~ ﬁy%[u, ) = m&%w 4)

lign
/NLi p
_ Gy

. D <O
N2 kg
Reche g m 4

2

/VLB’ | %3 e

= g~

; ’L

e Z j{ (,ou»eté&/ )\u 'p(/ f;ﬁujfiué
ool @u%couf% C Otwe)%e (m(/(w to teree
\

CUXAR gﬁ,o,u'&/ y
A




Qréu,f\ P)(Kfﬂ % (

(M/l)

) A/( +(7A+%1;\+-A+%%C

(% +A)”

=

xowo | (x M) 2 (ed)”
O /{)
N i 2 ¥ | = =




) §=z (63
N X)(z? + & = @hax Vx>O

2 (A)
:De;‘&cbmfdo )gu X

gﬂ/{ K-: % Sjt/f ‘/
(At s
=> %(x)*€4 ! g(f,/{ %&%
R
By.s i
ol | (etvh gty
- 4 X% : _ﬂ)




X

4 () = S%'(%m
S W* -—M

JA

X

= X@%X“ZX&* PO%X )

- (Xf/f) @lﬁx v 2 (X‘XS



